1. EFMPIGNETTIER, thin: REQ AEWIAA I B FF & il T,
HATHE B B P TS A AR

2. HAIERIE 600ms L LRE )& 600ms, ¥ MCU L LEAS
B, FIHERAH 600ms

3. RIE AP RECD E BEHT 2 4k BUSY {7, 55 A busy

Anie FH ZE I SR AR

S HIWT busy 4 0 KIABEL SN, wt o) DR B e s 2k by ARG
[ AR ER A6 15 5K REQ=0, AEERITUR I dE, HIWT busy=1, R)5
HsiE KB REQ=1, 45K,

B
4E 5 600ms

# ] ) B R — e iR 4

CNRE AP S O o o Y

NO
G ¢ 1 4 0] 7 A

FYRIEED

YES
RET



O R BFN TR

sl wiBUSY=0 N0

YES
1 4 s A

NOP%E 135 4 32

) RSB %2 i % K (REQ=10)

Y| Wi BUSY = 1 NO
YES

W R (REQ=1)

RET

OSBRI Mgk b, AT BUSY=0 J5 2R 1% REQ=0 4 4TI,
K T REQ=0 BT HUEIR BUSY A4 727k 1
HIWT BUSY=1 J&5 4 4 REQ



